Maths Meeting
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«4X 3 =
e12

* 3x3=
9

e What is 20 less than 1007
* 80

e What is 20 more than 2207
240

*If | have £18 to share between my friend and | how
much will we each have?
* fO
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Where would the number 19 goon/UnL&
ruumber line?
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How do youw knows?






Write your calculation in two different

ways as shown.

3+3=6

2x3=6




Read the measurement in cm

10






Look al the: array. What: could the
mulb.plmb.orunumbevser&enwbe7

5
How mang strawberries are there?
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-|—I me for 3 SOng https://www.youtube.com/watch?v=V96I1ZWctZYA
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https://www.youtube.com/watch?v=z_BJjR9rdwA
https://www.youtube.com/watch?v=V96IZWctZYA
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e Add 147 and 133. Use column method!
e 280

eWhatis3+3+3+3=.
e12

* How could you write the last calculation as a multiplication?
*3x4= or 4x3-=

What is double 157
30



Read, the: names of these 3D shapes.
Desuwb&ﬂw@

properties

Cylinder ||| Pyramid

-
cu"e CLUE

Vertices
are the
corners!

Cube

p




Use column to- solme

236 236
112 +112

How- did: yow work i oul?
What did yow do- first?



Do these calculations have the same answer?

Write yes or no next to each box.

One ig.done for you.

52

| yes or no?
8+ 2and2 + 8 ves
8 x2and2 X 8
8—-2and2 - 8

8+2and2 + 8







What are the missing numbers?




Where will the rnumber 48 goom’dnj&
ruumber line?
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ook/abﬂwor\r\a%/. What, could: the

mﬂhplimhomnumber\senterwebe?






https://www.youtube.com/watch?v=LBNzIFMpQWI
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e Add 56 + 26 . Use column method!
°82

*\What is half of 327?
16

*|f | share my 28 sweets with my friend, how many
will we each get?

*14

Whatis 4 x 10?
40



607



Read the measurementy onv this ruler
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What are the missing numbers on the bar models?




How many ways can you complete the calculation?

7+ 16 —

This might be a bit tricky.
Each side of the = symbol
must be equal



Secret numbenr secret, numbenr
Whats the number going, to be?
Secret numbenr secret, numbenr
Whats the number going, to be?

/9

100




Whﬂbafm.dxom
' do these
shapes show?




Time for a song

7z

https://www.youtube.com/watch?v=l cn87hOCDM&list=RDI cn87hOCDM&start radio=1



https://www.youtube.com/watch?v=z_BJjR9rdwA
https://www.youtube.com/watch?v=I_cn87hOCDM&list=RDI_cn87hOCDM&start_radio=1

